30201173

THIRD BRAKE LIGHT ANTENNA MOUNT
2014+ CHEVY COLORADO / GMC CANYON

»—BPD BACKING PLATE

o
T4

(LH SIDE ORIENTATION SHOWN)

10-24 X 1"
SOCKET HEAD CAP SCREW

10-24 X 1-1/4"
PHILLIPS PAN HEAD SCREW

1. REMOVE THE TWO (2) TORX T20 GM OE SCREWS, UNPLUG WIRING CONNECTOR, AND REMOVE THIRD BRAKE LIGHT FROM CAB.
REMOVE FACTORY SCREW CLIPS FROM CAB. STORE SCREWS AND CLIPS SOMEWHERE SAFE IN THE EVENT OF RETURNING TO STOCK;
THEY WILL NOT BE REUSED.

2. ROUTE ANTENNA CABLE INTO THE INSIDE OF THE CAB TO YOUR DESIRED LOCATION. THEN, WITH THE STAND-OFF BRACKET
SANDWICHED BETWEEN THE MOUNT AND CAB, SET THE ANTENNA MOUNT INTO PLACE USING GUIDE PINS. BE SURE THE SUPPORT
BRACKET ON THE BACK OF THE ANTENNA MOUNT IS TO THE INSIDE OF THE CAB; THIS WILL BE TIGHTENED IN A LATER STEP.

3. PLACE MOUNTING BRACKETS BEHIND CAB SHEET METAL ON BOTH RIGHT- AND LEFT-HAND SIDE, ALIGNED OVER GUIDE PINS. USING
A 5/16" ALLEN TOOL, TIGHTEN TWO (2) 10-24 X 1" SOCKET HEAD CAP SCREWS INSERTED THROUGH THE ANTENNA MOUNT T0 SECURE
MOUNT TO THE CAB.

4. USING A5/16" ALLEN TOOL, TIGHTEN THE REMAINING TWO (2] 10-24 X 1" SOCKET HEAD CAP SCREWS INTO THE SUPPORT
BRACKET.

5. PLUG THE THIRD BRAKE LIGHT BACK IN, SET THE THIRD BRAKE LIGHT ONTO THE ANTENNA MOUNT, AND INSERT THE TWO (2 10-24
X 1-1/4" PHILLIPS PAN HEAD SCREWS. TIGHTEN THE PHILLIPS PAN HEAD SCREWS BY HAND WITH A SCREWDRIVER.

480.247.2331 - 888.967.6653 « hulletproofdiesel.com '- BuLLerTProorDiesEL



